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1l * 2 26.8 2,544 i i i i it i

2| & 5 26.9 2,327 i i i i it i

3| = i 27.1 2,422 i i1 i1 i1 it i1

4| B8 2 27.2 2,449 i i1 i1 i1 it i1

5| B 2 26.9 2,187 i i i i it i

6| % 2 26.2 2,808 i i i i i i KERIE (FK - BeR0)
7| x 2 25.7 3,902 i i i i it i

8| =« (5] 24.2 3,939 i it Fiii it Fiii it

9| & 5] 23.8 3,619 i it Fiii it Fiii it

10| + (5] 24.4 3,660 i it it i i "

11| =B 2 25.4 1,260 i it = i i "

12| B i5 26.1 2,294 i it Fiii it Fiii it

13| % i5 25.4 3,632 i it Fiii it Fiii it KBRIE (RK - BERO)
14| X i5 25.2 1,961 i it Fiii it Fiii it

15[ =* i5 24.6 2,545 i it Fiii it Fiii it

16| = 5 24.1 4,022 Fiid it Fiii = i Eiid

17| = (5] 22.3 3,233 i it it i i Eiid

18| H i 23.4 0 i1 it it i i i

19 B 2 23.0 952 i it Fiii = i i

20| = 5 22.3 0 Fiid it Fiii = i i KEAIE (PK - R0 (RZKEERO) )
21| 5 22.4 1,702 Fiid it Fiii = i Eiid

22| & 2 23.0 2,493 Fiid it Fiii = i Eiid

23| & 5] 22.7 2,606 Fiid it Fiii = i Eiid

24| = i 21.8 2,418 it i it i i it

25| B i 21.3 2,326 it i it i i it

26| A i 21.4 2,385 it it Fiii i i Eiid

27| = i 21.4 2,397 it it Fiii it Fiii i KERIE (K - BeR0)
28| x = 21.5 2,400 Fiii piii3 Fiiid it Fiicd =

29| & i 21.8 2,195 it it Fiii i i it

30| & 5 21.2 2,701 it it Fiii i i it

31| + i 20.8 2,585 i1 Fiii i Fiii = it




